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Q1) a) Write difference between DBMS and File Processing System.

. [4]
b) Explain System catalogs in detail. 4]

OR
02) a) Explain DBMS Architecture with proper diagram. [4]
b) Define: [4]

1) Data Abstraction.
i) Data Independence.

03) a) Consider the scenario for “Courier service system” Make your own
assumptions and Draw an EER consists of Aggregation, Generalization,

Specialization. (6]
b) Explain different types of attributes with diagram notion and suitable
example. [4]
OR
ation & Generalization with suitable example. [6]

04) a) Explain Specializ
in di traints that we can apply on the fields of
b) Explain different types of constrai .

7 the table. ;
05) a) Explain view in detail.

b) Write neat syntax of 4
i) Sequence [4]

i) Index
OR

PT.O.




g6) &  Explain any g6,
ules of g F
Codd

b) Write short note on Re feren; {41
1al Integrity with example (4]
Q7) a) Explain different types of
c
e ursors with proper example 4]
gate functiong with example 4]
L. OR
08) a Xplain difference bet
Ween stored procedure and function with example.
‘ : 4
b) Write short note on: Joins -
. [4]
09) a Explain different Databage Design approach 4]
b) Explain types of Function dependency in detail. [4]

OR

Q10)a) Relation{ custno, custname, orderno, prodno, proddesc, qty_ordered,
custaddress,date_+ordered, order_descr, qty_available, price_per_unit,
total cost}.

Normalize this relation upto 3NF with proper explanation. [4]

b) Explain different Anomalies and data redundancy issues with unnormalized

data. [4]

QI1)a) Whatare the benefits of BigData? Explain in detail. [4]
~  b) Explain HBASE Architecture. 14]

OR

. ; :
Q12)a) What are the advantages of NOSQL over SQL? [4]
ase Systems. [4]

b) Write short note on: NONRelational Datab

o
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Bxplain the conce
F° pt of Booch Methodology. [4]
Explain in brief the ph i i
I phases of Rational Unified Process. (4]
i OR
N
the design view in 4 + 1 view architecture. S|
Differentiate SSAD and OOAD. B3]
e : S
colian the Extensibility mechanisms of UML. [5]
- 3]

is OCL? Exf)lain with example.

OR
i Jine Movie Ticket. Make necessary
i for booking On 3
v use case diagram
mptions. i
enefits of using UML.

the b

PT.O.
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5]

passed on the points given by the panel of

es. From the above assumption, Draw class diagram.

n the concept of Association and Aggregation with example. [4]

OR

 Class diagram for “Order Management System”. Make necesse[tg)]r
1ptions.

ain the concept of Object diagram with example. [4]

| diagram for ATM machine. Make suitable assumption. [5]
¥ sequence

i
2

: 13]
in the term Interaction diagram.

OR

-buvi roduct from vending system.
mmunication diagram for buyingap 5]

suitable assumptions.



activity diagr,, “Eramang s v
r

ves the Order, On re%ﬂfen Order processing system where the fi

Neously an j,.,.. . Pt of orq where the firm

€18 sent, Oncer the order form is filled and
€ order ; © the order is filled, the delivery

STush order e delivery is made overnight
, i 4 . .

der is ¢| osed. € payment is received [(;rll
(3]

—

€quence diagram,

OR
activity diagram tq resoly i ;
; € an 1s 1
'ble assumption, Sue In software design. Make

' [3]

lain the concept of State machine diagram. 3]

ain component diagram with suitable example. [5]

ain the application of UML, [4]

OR

raw deployment diagram for web application - online ordering of booéc.

your assumptions clearly. [4]

t is the use of package diagram? Explain with example. [4]
(03429, G40



SEAT No. .
S.Y [4961]‘305 [Total No. of Pages : 6
OPER Loy (Engg )
2013 Cq RATION SEARCH
urse) (Se ester - [1y) (410905
Ma Ar \&
the candidates: [Max. Marks : 50
mpt Q1 or 02, 03 or g, @5 otok

diagrams must pe drawn wlzz:eger, nQeZeos;'aQri Vo it C

es to the right side indicate full marks,
f]-iof elctronic pocket calculator is allowed,
me Suitable datq if necessary,

ve the following LPP by the Simplex method. [6]
z=11x +4x,

ject to constraint

3]
scuss the properties of LP model.

OR
131

easible Solution

: PTO.
timum Solution



e t_he following Lpp

by the Gy
i3y . Tl

ject to Constrajnt

t3y<=1 8

) X2>=0

feasible solutiop by using

1 West corner method =
P 123 |4 | suply
Y. [ 20 1 11 15
B 7 | 9 20| 25
4 14 LG 1l 10
gand = 5 5 R T
OR
> given problem of Assignment using Hungarian method. 8]
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3 8 3
rmine Expected time & Variance
critical path

possibility of node occurring at the proposed completion date if the
al contract time of the completing project is 41.5 weeks.

OR

critical path for the project network using forward & backwe{xg}i

11




vork in following 18ure iveg
i‘:ween City (node l)a

h rmj i gths in
the pe 'SSible Toutes & their len
nd fOUI Other citie
routes between Cl

i e
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ute using Dijkstra’s algor;

9]

Ng four cities, Find the

= S




b 52 s3 ¥ g7 [4]

25 [4]

30 HRERRE

— ]

decision using

Laplace i)

Hurwicz
Regret iv)  Maximin
OR
hat is decision ﬁnder risk? [4]
ose that following weights are specified for the simulation of Rahul
Rekha [4]

5, pl=0.17, p2 = 0.83, p11=0.129, p12=0.277, p13=0.594,
1=0.545, p22=0.273, p23=0.182

5, q1=0.3, q2=0.7, q11=0.2, q12=0.3, q13=0.5, q21=0.5, q22=0.2,

[4]
[4]
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cessa r J A

tis Resource Preemption? Explain sequential sharing & concurrent

i [4]

tis Batch Processing system? Explain functions of batch monitor?[4]

OR
plain Jobs, Programs and processes. What is the degree of
ultiprogramming? [4]

ite a short note on real time operating system. [4]

I it ‘
nlain Process Control Block with diagram. [4]

emptive process

[4]

ain the difference between preemptive and non pre

OR

. Name different SchedulingAlgorithms. (4]
criteria.

PT.O.
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Processeg p
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ume that 1 ig 17 e ing priorities ranging from 1
aSsume that pl

,nsider a set of
3- Let us ass
rity. Let us

ighe sl |
agrri:t priority whereas 3 is the least ]
es first and P3 arrives in the last. |

4’ |

- | CPU BUrstr L [4] |
————— 1% | Pricritaim |

10

s Sy 9 0 |

\5 o 1 ‘;

2 1 2

N, : g time a : y 5
rity scheduling. Draw Gantt ckrll:r:u rnaround time using preemptive

What i i
k- deadlock? Explain two fundamental approaches for handling

dlocks.

[6] 5
te a note on mutual exclusion. B3] N
OR 1
ain the concepts: (6] |
Semaphores.
Monitors.
ace Conditions
characteristics of deadlock. 3]
the concepts: [4]
emory Fragmentation.
I-Memory Compaction. 5

short note on locality of reference.

OR



SYStem vyt

00 cyling
ming the head j > \OWing s °rS The request to access the

S ) quence -
S0 satisfy all the . "9°T S0, Wha is":l;34,10’7’}9’73’2’1 o
€ pending requests £ ¢ total distance that disk
or the following disk scheduling
[6]
ain free space mang
gement techniqueg 2]
OR
lain with respect to file Mmanagement. [4]
Field.
- Record.
File.
Database.
lain two level, tree structured cyclic graph directories. [4]
lain various data structures used by Linux. [4]
ain fork, wait, exec, process management system calls. [5]
OR
i ; 3]
silent features of Linux. )
‘ : le.
in Inode assignment to newW ; [3]

ain different commands of Linux. (Any 3)
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